(A F3) AL ABA R H T NHA

— ~ FWE R E AR AR EIE L R ¢
P \ BRI EL A
SR A & . :
R i R | VA
SESC 4 B - BB 509% 509%
2| REBE s (RS - S 50% 50%
. B2 e 509% 50%
- hErE FESE ~ T~ AR 5 0% 50%
s | BRBLASTRIRSE | 49 - BYE (SUERD - 4
- Bt R 0% 60%
B | B ASSES) T il TH 509% 509%
L ED i BE R 409% 609%
EEETE Eic ] | 50% | 50% |

= g
1 ~ CEREECEBE SR ~ AR TR BISCEE 5 & - AEEEE 4 6
EHIRFERNG = (BISCEBREE*S 6+ AR ESBE 4 E)  (5+4) Hi=A
PR R = (BSCPRFRER™S B + et PR &*4 8i)  (5+4) Ei=B

R FBERSE = A%x50% + Bx50%

2~ CESEAEREEAEY) - AVER R Hop A 36 - AEREE 16
EHEF R = (EYES A3 B+ AVERECES a1 1)  (3+1) Hi=
PIFEFERGE = (EYPPRFREE*S f + 4SRRI L ) 7 (3+1) fi=

BEARESERSE= Ax40% + Bx60%

3~ GrE I ETREE - B - =R 0 &6 1
EMRFERS = (BEESRE+ iﬁiﬁ%)ﬂzzﬁ +RBUEHRE) / (1+1+1) i
PEFRFEREE = (BB PR AR + B PR R + RECPR &) (1+1+1) i

i
GEERGERE =A%40% + B%x60%
4 ~ ERIHIHE

1]

- BRI =TCE IR E A 918 R SIS HRCAT » B = (E 2R 22
HRCAR 1R Ry R RO 4R -

s BEFRI(PENT -Ig"‘ﬁ_,k-ﬁ)’? wR e, g f*.&z;? Lig Epm 3

1 ‘Bﬁ}/\ 2 MR AT ER RSN EEHHE FERE R ¥

IR SV Sl VB S

2~ EMEUSRHRUHOAMIBNE Ok o LRI A G ez A

#
3 ST A BB Y AR EERT (2 BT
E BRI E




